| firstDSM -> lastDSM (including BTOW if in run) | Entries

Mean

RMS
1 =T
10t =
102 Er
10° &
- 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
710 720 730 740 750 760 770
us
| lastDSM -> trg | Entries
Mean
RMS
1 =T
10t =
102 g
10° BT
T 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
53 535 54 545 55 555 56 56.5 57 57.5 58

us



| L2 algorithm time (trg -> evtacc) | Entries 1
Mean 26
RMS 0
1er
107" Ef
102 Er
10° Er
- 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1
26 26.2 26.4 26.6 26.8 27 27.2 27.4 276 27.8 28
us
| Accept (evtacc -> accsent) | Entries 1
Mean 8
RMS 0
1 m
101 E-
102 E-
10° E-
— 1 | 1 1 1 1 | 1 1 1 1 1 1 1 1 | 1 1 1 1 | 1
7 7.5 8 8.5 9




| Release (accsent -> relsent) | Entries 1

Mean 118

RMS 0
1 =T
10t =
102 Er
102 &

- 1 1 1 | 1 1 | 1 1 | 1 1 | 1 1 | 1
118 120 122 124 126 128

input rate




| firstbSM->accept sent Entries 1
Mean 793
RMS 0
1er
10" 51
102 g
10°
_| 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |
800 810 820 830 840 850 860 870
us
| lastDSM -> accept | Entries 1
Mean 87
RMS 0
1er
10" &7
102 Er
10° EF
L 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1
87 88 89 90 91 92 93 94 95

us




| BBC times (relative to L1) | Enries 1| | BCltimes (relative to L1) | Entries 1
Mean -1.337e+07 Mean 23
RMS 0 RMS 0
1t 1k
10F 10
107§ 107§
10°F . 10°g
_||I|||||||||||I|||||||I|||xlo _||I|||||||||||I|||||||I|||||||||||||||
-12 -10 -6 -4 -2 0 23 23.23.423.623.8 24 24.224.424.&4.8 25
us us
| BCE times (relative to L1) | Enies 1| | BCW times (relative to L1) | Entries 1
Mean 33 Mean 39
RMS 0 RMS 0
1 1k
107F 107§
107§ 107§
10°H 107§
_| 11 1 | | N T | | 11 1 1 | 11 1 1 | 11 1 1 | | N T | _| 11 1 | 11 1 1 | 11 1 1 | 11 1 1 | 11 1 1 | 11 1 1
33 335 34 345 35 355 36 39 395 40 405 41 415 42

us

us




| FPE times (relative to L1) |

107

1072

10°3

Entries 1

Mean -1.337e+07

10?

RMS 0
E| 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 x106
-2 0
us
| CTB times (relative to L1) | Eniries :
Mean -1.337e+07
RMS 0
E| 1 | 11 1 | 1 1 1 | 11 1 | 11 1 | 11 1 | 11 1 x106
-2 0

us

1
17
0

| FPW times (relative to L1) | Entries
Mean
RMS
15
107§
10§
10°F
C |||I||||||||||||||||||||||||I|||||||||I|||||||||
17 17.07.217.317.417.517.617.717.8.7.9 18

us




| BTOW times (relative to L1) |

Entries

1

Mean -1.337e+07
RMS 0
1 =T
10t =
102 Er
10° ET .
1 1 | 1 1 1 | 1 | | | | 1 1 xlo
-12 -10 -8 -6 -4 -2 0
us
| ETOW times (relative to L1) | Entries 1
Mean -1.337e+07
RMS 0
1 =T
10t =
102 g
10° g7 .
1 1 | 1 1 1 | 1 | | | | 1 1 xlo
-12 -10 -8 -6 -4 -2 0




Mean 161
RMS 0
1 =7
1071 =
102 =
10-3 ={
el Y | 1 | 1 | 1 | 1 | 1 | 1 1 | 1 | 1
162 164 166 168 170 172 174 176
Entries 1
Mean 22
RMS 0
1 =T
107 =B
102 =
10° =t
—1 L L | L | | L | L L | L L | L | | L L | L L L
22 22.2 22.4 22.6 22.8 23 23.2 23.4 23.6 23.8 24
us
Mean 6
RMS 0
1E- ]
10" =
107 ==
10° £
— 1 L 1 L L 1 L L 1 L
5 55 6 6.5 7

us
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Entries 1 Entries 1 Entries 1 Entries 1
Mean 0 Mean 1 Mean 0 Mean 0
0 RMS 0 0
1 1 1
10" 10" 10
10° 10? 102
10° 10° 10°
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
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